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I believe that the motivation for altruistic behavior is a result of genetic
evolution. Humans are capable of sophisticated communication, enabling them to
accomplish more when they come together and cooperate as a community, as
opposed to when they are alone. In particular, in the hunter-gatherer society
where mankind spent most of its time, isolation was equivalent to death. For this
reason, we have evolved to desire a sense of belonging to a community, and we
experience anxiety and loneliness when we are alone. But creating a community
and fostering cooperation require relationships between people, and various game
situations arise as a result. In a conflict situation where you have to choose
between cooperation or treachery, the person who first acts cooperatively
becomes more likely to survive.

The most famous example of this game situation is the prisoner's dilemma.
The 1980s computer program competition was held to determine the strategies
that would vyield the greatest benefits. The winning algorithm selected after the
first and second competitions was Tit-for-Tat. This algorithm is a simple strategy
that initially cooperates and then imitates the previous behavior of the other
person. With proactive cooperation and trust, swift retaliation for treachery, active
forgiveness, and clear strategic clarity, this strategy outperforms other algorithms
and tactics. This supports the fact that individuals who act altruistically were able
to acquire the most resources and gain an advantage for survival.
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https://namu.wiki/w/%EA%B2%8C%EC%9E%84%20%EC%9D%B4%EB%A1%A0
https://namu.wiki/w/%EC%A3%84%EC%88%98%EC%9D%98%20%EB%94%9C%EB%A0%88%EB%A7%88
https://namu.wiki/w/%EC%9D%B4%EA%B8%B0%EC%A0%81%20%EC%9C%A0%EC%A0%84%EC%9E%90
https://namu.wiki/w/%ED%8C%83%ED%8F%AC%ED%83%AF
https://namu.wiki/w/%ED%8F%AC%EA%B4%84%20%EC%A0%81%ED%95%A9%EB%8F%84

